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Please read this information before the examination starts

e All quest!ons should be attempted

o A completely correct answer wm receive no marks unless you show
all your worlung G:ve the correct units when necessary.

‘e Calculators are allowed

o Give your answers to 3 significant figures if necessary and not

) otherw;se specnf ied within the question.

‘j lf you have time at the end, check your answers carefully.




2. Look at this sequance of Fibonacel numbers: ,
1- i 2 ‘- 3 . 5 o 8 ! Skba 21 yee _ E1T A 89

{1} Writa down the threa missing terms.,

Answer- *. L @

{ii} From this listof 10 numbers, and using them only once, wnte down two numbers
\"&“‘1 are ,

{({) mulliplasof 3

ANSWEF: e wovs aoveg wenee samisarss < 42)
{b) cube numbers

| AnsWer: hon R |, , (_2)
{¢) two-digit prime numbers

Answer: _:7 soveivens, we s e e (2)
(d) factors of 40

ANSWETD .ovveriviisnnney sens  cusemains (2)

| 3. The two dngrt:, of °9 are 2 and 9
\'nto down mumple of 12 whose two dugtts add up to 12

. Answer: ... . U - N
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- 5 Calculate the size of each of the angles marked a, b, ¢, dand e.

not to scale
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Answer: i N — AT . . @)
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T \"(%1) 1inch = 2.54 centimetres. : | P = )
. (i} Apisce o!stri'ng is 64 inches long. , @/ -
- \Writs this length in centimetres. o et .
Give your answer correct to 1 decimal place. |

" ASWER! ceoms s vosivsioniens €M (2)
(" Adoorisj.QG-metres high. , ' | not to
Write this height in inches correct to the 5. e DD i1 scale
nearestinch. - . 1] 1l90m R
ANSWEE: s woeereenserees, inChES (2

(b} To canvert a temperature measured in degrees Fahrenheit (°F) to one measured
in dagrees Celsius {°C), the following formula is used: '

’ o Lt C=8(F-32)
{iy The temperature in Hu_ssié is 4 °F.
Calculate this temperature in degrees Celsius.

(i) Theo has a ternperature of 40 °C. |
Calculate his temperature in degrees Fahrenheit.
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9. Bob sells sccond- hand blkes

The age and value of each of seven bikGS ae | ggég
shown in the lable below. _ - -

Hin years
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ageotb;ke,iné 2 | 3| 4 e A -
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Bob plots the first three resulls on a scatter graph.
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(i) Plot the remaining four resuits on the scattér_g'réph.
(i) Draw a line of best fit on the graph. (1)

(i) Which sort of correlation is shown on this graph?
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ANSWET: werneeneens s © o s . )

A student brings Bob a bike wh:ch is 5 years old. .

~ (iv) Use your line to estimatc its v_aIUB, .,howmg clearly where you take your reﬁdlng
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(a) (a) Calculate the size of an ext
regular octagon X enor ang!e of a

scale

ANSVIEL: cvvacesiuorsentrinsasines | son

(b} Caléulate the size of an-interior angle of 2 regular octagon.
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3 Felrx puts his ladder up against hxs housg
_He places its base 1 metr m
e ou a
just roachos the wmdow oy é frg the wall and, when itisits no-m:H ot hc Iadder

\_a\

etres above the ground. ‘V

/

notto

1 ~ scale
1

H

t

3

i

\i

(’) Use Pytha oras’
of Felix's !ag i Théorem to ca!culate the normat lengtn

m

ANSWEL: ooeeeeereae eeveanen ~ m (2)
Felix's cat is stuck on the roof |
Felix extends his ladder to twice its normal length and places 1ts base 1 5 m from the
wall. o
The to of the ladder ust reaches hlS cat '
i ! o QP’\/ notto |
(n) At what height is the cat above the wmdow ledge‘? ' ' ;calei |
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